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pI2 compatible L[A.BI=0
incompatible CA.BJ#0

x [A.8]=0 —71
© Alai>= alai>

> A(Bla>) = B(Ala>) = B (06l0i)
= ai(Blai>)

> Blai> is an e»‘gewke*{-
ot A (A fos non-degenernte eiaeluva'ues)

> (Bla>) & Is> sheud not be different
by more~than a multiplicative

> Blai> = bi o> L—f&.'éﬁo

= | A& B have common a‘ﬂenbasfs,
<>

A&R ae compotible observables -
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common eiqenba.sis -

AR la>= AB ZGlas>=AZBla>
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2> = A26bilai>
bkewise. = ZCibsaslas>
BAlI> = -+ ZCiosbilai>

> AB=BA = [A.BJ=0
(® Pegenerate cCase ( true)
it LA 8120 & A|0ii>=0;l103>
=L 2 --n.
1105.>§ {mearly independen-}-.
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A & B stil have common eiﬂenbas.‘s.

wMFGtHe . /7 a;b R /7 b'i/ R /704,1'
l (10> s 10> = 10> B jai>
r;:wa»
Aloi> =ailai> — subsequeat moasurenents
B lui>=bilei>  donot clestroy the info cbhuned iy
the previous measure ment
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CA.BJAO © A&B donot fave a Comp/e‘f'e
set o4 silmuHuneous ezﬂemk&‘}s
Proot : # 'Heﬁ do
> ABlai>= Abilai> = bigilai>
(\=5AA A =
lkewise . BA |0i>= Bailog> =Cybilti>
—AB=BA = [A.B1=0 cwmfodcting LA.8l%0
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totul Fmbabih‘l’j Mjh ol “b" channels .
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== <cib><clb>® <bla><bla>™

= E <cb><ble>< bla><alb>
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Ab

= ( Z<clb><bla>)( §,<c||;><|>'|a>)*

o>

= zz: <clb><blo><alb><BIC>
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Ala>= alo> Blb>=blb> cle>=cle>
> = =<c|b><Zblo> §,<alb’><b’lc>
b

LA -BI=0 .= then (0>, |b> ave smultoneous

eigenkets (
>only one ¢ Ib>s will be 3eoc| for <bla>#0

— s<bla>d<alb><blc>
> = %(C“? l @

# [A.BJ=0, la> will not be“damageol" oftey

coming out from B, 50, it’s w‘heéamtj W/g\'ﬂ’
w/o .
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